140. Where was the first nuclear reactor of Asia established?

(A)  People’s Republic of China
(B) dJapan

(C) Taiwan
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141. Who assumed the title “Chittrakara Pugll é? & g’,\ '

(A) Rajarajal

B) _ Narshima I’

\% Mahendra Varman [.

(D) Nandhi Varman
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142. Which one is not part of the Panchayat Raj?

(B) Village
(C) Township ' A,
(D)  Zila Parishad Sy v
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¥ &S
Q é’" T o
.y A
THS R UGSHTLS TTRUSHD Gome? R Lo
(A) ELD@ % Q ~ Q‘U A
®)  dmoi - S S
(C) msflubd -
D) Hoorufsts ‘ $ ‘
- - | QQ/@Q}Q"? &
TS qY
O
X & &S
& FSO
Lo = OLN
143. Which part of the Indian Constitution deals wibé@ 'Qﬂgéa;)@hal Duties?
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144. Areaofa 1 i
. Square 1s 5 hectare. The diagonal of the square 1s

r

(A) 250 metres

\M 100 metres N
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145. The surface areas of two spheres are in t_hfgggo gr % Then their volumes are in the ratio
~ o
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146. SiX orking 10 hours a day can do a piece of work in 24 days. In how many days will

9 men working for 8 hours a day do the same work?

@ 10 days (B) 15 days
20 days o5 day%{/@
&>,
?‘ e

.
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147. A can finish a job in 20 days and B can complete it in 30 days They work together and ﬁnish
the job. If Rs. 600 is paid as wages, then the share of A an@

S >
(A) 240, 360 , ®) 300,390 L AV
2" 360, 240 (D) (AW, TP ©
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(A) 240, 360 o - (B) 300, 300
© 360, 240 ' | D) 400, 290 _‘

@
K
148. Ifthe average of the values 18, 41, x, 36, 31, 24, 37, 3 &@ %&Qﬁ%nd the value of X.

W~ | | ®S ¢§‘ A
- 25

30
. Q\\‘Q%Q‘bq
18, 41, x, 36, 31, 24, 37, 85, 27, 36 @eupiien syt g}\mﬂwx@m WAL erenan?
@ 25 B) 24
‘ D) 26
© 30
o R CCS2T

[Turn over

Scanned by CamScanner



149.  Black revolution is related to )
(A)  Fish production (B) Coal production
Crude oil production (D)’ Mustard production
sB®W YIS Qsaier Qgmiyemuwg)
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150. Budget 2017 has proposed ————— as the front ﬁe@\oﬁ?’\ﬂ&g passport in far fly
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151. The facility announcgd for Senior CitizeW&%ZOﬂ — 2018 is
- Aadhaar enabled smart card . C}“‘ ‘g' K " .
&
(B) BHIM App Q
(C)  Shakti Kendras
. (D) Pension scheme
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152. Which oné of the following is the correct composition of Brass?

A) Cu-50% ; Sn — 50%

y{ Cu—60% ; Zn — 40%

(©) Zn-170% ; Sn — 30% | _ | S
: : ' QQ’ & M
@) Fe—40% ; Ni— 60% R R Kl
v
D&
) - . . &
SpasaLeupdle Ngsmemuder sAwirer o Corsss \ﬁ%&@:}gfﬁ% eremen?
A) Cu-—50%;Sn—-50% gf/b\gf@@Qq\*
O
B) Cu-—60% ;Zn—40% 0‘;\@ '
Q

(C)  Zn-70%;Sn-30%

(D) Fe— 40% ; Ni— 60% A
' Ny .
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Y 25 o
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1563.  What is phototropism? g’ Qg’,_g iy
| o SsoF f
(A) - movement of plants towards z%;ga
. @( movement of plants towayd&gh? § S
. S
(C) movement of plants towards soil Q
(D) response of plants for day length <
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154.

\M Annie Besant
B)

Sathiya moorthi

| (C) E.V. Ramasamy

(D) K. Kamaraj

&) aeflQusan
B)  ssdwnpiss
©  mel. Quflumi
D)  ®. smorei

155. Tamil Books were printed firstly by who

\M Rev. Zieganbalg

(B)  Rev. Schwartz
(C)  Rev. Grundler
(D)  Robert De Nobili

S
5

Who started Home Rule Movement in India?
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156. The institution of Lok-Ayukta was established first in the state of

(A)  Gujarat \M Maharashtra

(C) Rajasthan
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157. Who said “The Directive Principle of State Policy 18?1 gel¥eature” of the Indian
Sy
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158.  Identify the mismatch :

(A)  White revolution . Milk
(B)  Green revolution - Food grains
© Bluel revolution - Fish
\9/ Yellow revolution - Flowers&-
~ . v-'&)l
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159. National Agricultural poli Jf‘)*@é\l
. ationa cultur i i :
) policy aims at a grz,mléﬁg;@ % per year. .
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A)
©)

The cube root of 0.027 is

161.

(4)

0.003

(B)

0.03

©

"(0.027) b ga epavld

(A)

0.003

(B)

0.03
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162. : rhi
The crop which gets affected by pink ball worm is

(A) Banana
(B) Wheat
(C)  Mango g
G 53y
G cotton QLSS
T KV
L EES
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163. World’s first Block chain Bond was la'ﬁg §§ ¥
D gr SN
(A)  Reserve Bank of India & 80'?
SVES
\}3( World Bank S
&

(C) Hong Kong Bank

(D)  State Bank of India

o wdlar apse Block chain LsSrsems SIPPSLILGSSHw mg,@
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164. 1Femtoisequaltq m

@ 107 -
10—15

(O 10°% S A
- (D) 10°°
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165. What is the value of gravitational field at the centre of the sphere? -
. M,
\M zero _ (B) Gr %Q,\_ S
S
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166. Which of the following is sensitive to ultrasonic waves?

(A) Man : \MBat % ®

(D) Fish Q¥

C) Bird ' ‘ &y
©) ' ?‘G?‘ 6»,66% Qb‘b‘ fﬂf

4 Q < '65'3‘@"&2’%79’6 |
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167.  Which of the following statements regarding soil are correct?

L Soil is a dynamic natural element
II. It is composed of both mineral and organic matter
ITI.  The characteristics of soils depend on parent rock
IV.  All the soils having a well developed soil profile
(4)  All are correct o e
WE SHINE ACATE 1Y
\)/I, IT and IIT are correct 4/8-B, Rangasamy et

' _ Chromepet, Chennai-iit, 14, .
(© L Mand IV are coprect Ph: 89391 44344 1 72006 22622
(D) I, III and IV are correct
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168. Metro Rail Service is available in

1. Chennai

1I. Coimbatore

\"'3\
D
n
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. ' I IR
IV. Madurai F AR
' &) ES
g8
| 3
\/ I only . 652\ ?_6\5& ’gy
@) IandIV S d&o ég"
S S
() Iandll
d IIT
(D)  Ilandl . )
$
i
Quot_ Gy quilér Gaameu cuedl -arer @L . , | 4.
' | Q&
I. Qeeeven - - Q@@\ |
. o | S
II  Garubysanm _ Vg)?; %\;QQQ‘_{@'D’.
| ' @ K%
Il Hosd : @Q’Q& S
. . - . @ Q"%‘Q‘Q\\ bP*
. wger Sl
o
¢
@) ILwceo
® LwoppolV
© Iwppw I :
© I woppo 1T
6.1

Scanned by CamScanner



169. 1
9. Which congress conference was attended by Bharatiyar?

\M Surat Conference

(B) Madras Conference

, S\
(©)  Bombay Conference Ry '
' L‘::.'\l‘. ‘E“\ VY‘.
(D)  Lucknow Conference ,’iztzixcﬁi\oQQfOV&
Cafe
X' & &S
TS ST rey o N ¥ S A
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170.  Who extended co-operation to PuﬁT@r

- & O
_ \/ The French Q/éz\Q%@ \YT}Y
& RN
(B)  The English Q » @s‘ﬁ?
G D
&

(C) The Portuguese

(D)  The Dutch

HlSCaamES sTey OS1Ossauiger wimio
(A) lg]@;;@g;a;nqﬁ&ﬁ

B) udCawiasdr

(C) Gumisaslwiger

(D) Lés&SMyIseT .
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171. Complete the series 1 ZA, 3 YB, 6 XC, 10 WD, ?

(A) 14VE
(® 15UE
(C) 12VE _
& 15VE S
& s
S W
Y@C}‘.\O"QQV‘(&({/"
i SO
1ZA, 3 YB, 6 XC, 10 WD, ? erenp cuflens ;ﬁ‘@&ﬁ*‘%@@(\&
| ‘ e S
4) 14VE ST s @"Y’
@®) 15UE WES
\ | L
(©). 12VE Q‘Q
@) 15VE 4 S
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e SIS .
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' o v
172. The product of two numbers is 1600 and the@g}@ﬁ@le L.C.M. of the number is o
Ve SESF '
: | & &\@o?gb'\.
B) - 1605 ' : »c}“,\fb
. Q
(C) 1595
D) 8000
Qe cansafien AUEESD BT 1600 mmma{mm@?w 5.Qune. 5 erafld eraimsafian 5.41.0
G- N :
(4 320 | LS ,
’ W
B) 1605 _ g~
(C) 1595
(D) 8000
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173.  Find the difference between simple interest and compound inter est for a sum of RS-&OOO 1%

at 10% p.a. in 2 years.

(A Rs.70 .
\9)/ Rs.80
“ : ‘ . < Q
D)  Rs.100 . o ?C_) S
O ;'C.\. V2 CSO*
&S
, & S AV :
.8,000-5@ 10% aul’y eS80 Grem( %@;@Gﬁc@@—é@b" =0 AudEb sall ayy,
PSR v
o _drar el g Linssemss sres. g@Q‘" éf&?
@) .70 4 §U N §§
S
® ms - ¢
€ .90 |
D)  .100
N
174, The national fruit which i or KIS
.- The national fruit v‘fhlch is common for Phillipines, I"‘f;?i?cgﬁl’éé?@ndia is
(A) Banana ' ' & SR
(IR .
| LIy
(B) Fig 4/0.) @ Q&}*&T}‘
: : /- B SN
\/ Mango S v\94\::',’?’ '
| » S
| (D) Jack &

uer
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175.  Golden Handshake scheme is associated with
(A)  Establishing joint enterprises
(B)  Inviting foreign companies

(C)  Private investment in public enterprises ix

y O«? 3 WO
) Voluntary retirement (\/ 4?3,) S ‘2;9'

& & S
ShI& DEGYISEGD QLL}b QsaL e %""@‘éﬁ@\%}«
. D or &2
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176.  Which of the following scheme has the ob]ectlg& rsb Q@;\ e youth in the next three yea
' . N ‘§QC‘§@ \
(A)  Start up, stand up S Q_é\&?\;
. A,
\M PM Kaushal Vikas Yojana ${0 N o(‘@ rg;\ |
. » , g
(P
(C)  MNREGA ' &

D) " Deen Dayal Upadhyaay Grameen Kaushalya Yojana
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177.  Match the following :

(a)
(b)
()
(d)
(e)

Ranthambore
Manas
Nagarjuna sagar
Palamala

Indravathi

€Y b  ©

(B)
© 1 4 3
D) 3 1 4
Qunsss.
(a) pemsmbLT
' (b)  ioreTEy
(c) &g ST
d urewe
e Qpdrrad

@ ® @ ©
(A) 4 13
®) 4 2 1
© 1 4 3
o3 b
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1. Assam
2. Jharkhand \
3. Andhra _;‘S.\ v.' 3
4.  Rajasth & “‘?Q)Q&:&
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éﬁ ~\‘.7;,o éo
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178. Who converted Mahendra Varma I from Jainism to Saivism?

(A) Sambandar ' %Appar

(C)  Sundarar (D) Perundevar A
5

N
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&
"?4,
\‘,’, -
. Y
Dot
%

& G
@aemnd wEspAreauiomen amKer oGS BHhg) meaeu mg@@@q@%}b&{&ﬁﬁ?
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(A sbupsH : (B) 5; =~
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©) absym (D)$Q uWﬁ
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179. Name the chieftain who patronised Kabilar

A) Ay
(B) Adhiyan
\;tf Pari Q/@“
QIEY
(D)  Anii s §@9‘§'&
T S
& & $AV
S SN
X, E
s 9eveny 21,5MS55 CuTDHBHIL éﬂﬁ)gpu@@@g\ﬁgﬁl@@&
WS &
) o &S
A) < - &
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©) urf
D) =ies
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